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1. Header: ¥#laizk&on—MEaift)Hin, X H % 0xAABB.
2. Length: KJEFHE T Mir& 7 BRI B K&
3. Command: it 7&K EHAT I AT R4S

4. Data: HURBETE T &4 S IIHER NS, Bk
h.

5. CSUM: ey, &R WK 7 B e — A7 g A7
TR AR .

CSUM=Length ® Command ® Data[0] ®Data[1]-:+ ® Data[n—1]



HE: WARAEHER BN EE RS HIL “AA” O T AR ik
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Example:

AA BB 0A 21 00 04 FF FF FF FF FF FF 2F
AA BB: Header

OA: Length

21: Command

00 04 FF FF FF FF FF FF: Data

2F:CSUM =00 © 04 ©FF ©FF ®FF ®FF®FF ®FF

KRIERFLHE Code example:
void UartSend(unsigned char *cSendBuffer)
{

unsigned char i;

unsigned char cCheckSum;

TXC =1,

g_bReceCommandOk = 0;

UDR = 0xAA;

while (ITXC);

TXC =1,

UDR = 0OxBB; // send header AABB

while (ITXC);

cCheckSum =0;

for (i=0; i<cSendBuffer[0]; i++)

{

cCheckSum 7= cSendBuffer([i];

TXC=1;



UDR = cSendBuffer[i];

while (ITXC);

if (cSendBuffer[i] == OxAA) // USRI AFE(E AA 7751

//if there is a "OxAA" in the data field but not the command header,

//add a "0x00" follow the "0xAA", CL (command length) will not changed.

{

}

TXC=1;

TXC=1;
UDR=0; // 1E AA J5TfIfdiA 00

while (ITXC);

UDR = cCheckSum;  // KIERHF-T

while (ITXC);

TXC=1;

}
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. Header: H¥#laizk&on—MEaiff) Hn, X H [ %E H 0xAABB.
Length: KEEFE 7 Mar4 7 SRS 7 I A KL

. Status: REF, KRFELSPITLE IR, W RPATRIhR (]
AT IR, SR A . Eedn, a4 58 0x19,
RPAT T, IR BIPPRA T2 0x19, 75 WGk S il
0xeb,

Data: (& JIRLPITIEILIR WA, nTLIGAS.

. CSUM: £, JLEAUY MR SET B Js — > B A
QIR UhEG R




CSUM=Length ® Command ® Response[0] ® Response[1] ® +++ ® Respon
se[n—1]
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H, EWENXAE BRI 2RI AL JSTH 2 T 2 4~ 00, 54 I
FERLWCACRS BT HE 00 254l

BB HEMORBI14CHY Code example:

// This flag is set on USART Receiver buffer overflow
#define RXEN UCSRB.4
// USART Receiver interrupt service routine
interrupt [USART_RXC] void usart_rx_isr(void)
{

static unsigned char i;

static unsigned char cReceivedData;

static unsigned char cCheckSum;

char status;

status=UCSRA;

cReceivedData=UDR;

if ((status & (FRAMING_ERROR | PARITY_ERROR | DATA_OVERRUN))==0)

{

if (g_bReceAA)

{
g_bReceAA =0;
if (0 |= cReceivedData) // 2 _ANFHAIE 00, UL EMISk AABB
{

g_cReceNum =0; /] BHKEER

}

}

else

{

if (OXAA == cReceivedData) // W] AA 75
{
g_bReceAA = 1; /] AAFRENE 1
}
g_cReceBuf[g_cReceNum++] = cReceivedData; // JFUGEC i ik

if (5_cReceNum >g_cReceBuf[0]) // #se ik

{
cCheckSum =0;

for (i=0; i <= g_cReceBuf[0]; i++) // 1 i 5
{
cCheckSum 7= g_cReceBufli];



}

if (0 == cCheckSum) /] LX) & RAE A
{
g _bReceCommandOk =1; // #r ¥ IhbrSArE 1
RXEN = 0;
}
g_bReceAA =0;
g_cReceNum = 0;
}
if (g_cReceNum >= sizeof(g_cReceBuf))
{
g_cReceNum = 0;
g_bReceAA =0;
}
}
}
}
//
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